Exercise 10.1

Draw a quadrilateral in the Cartesian plane, whose vertices are (-4, 5), (0, 7), (5, -5)
and (-4, -2). Also, find its area.

Answer

Let ABCD be the given quadrilateral with vertices A (-4, 5), B (0, 7), C (5, -5), and D (-
4, -2).

Then, by plotting A, B, C, and D on the Cartesian plane and joining AB, BC, CD, and DA,
the given quadrilateral can be drawn as

10, B

To find the area of quadrilateral ABCD, we draw one diagonal, say AC.
Accordingly, area (ABCD) = area (AABC) + area (AACD)

We know that the area of a triangle whose vertices are (xi, y1), (X2, ¥»), and (x3, y3) is
—| vt x, (v = )+ x —_]?3}|

Therefore, area of AABC
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Thus, area (ABCD)

The base of an equilateral triangle with side 2a lies along they y-axis such that the mid
point of the base is at the origin. Find vertices of the triangle.

Answer

Let ABC be the given equilateral triangle with side 2a.

Accordingly, AB = BC = CA = 2a

Assume that base BC lies along the y-axis such that the mid-point of BC is at the origin.
i.e., BO = OC = a, where O is the origin.

Now, it is clear that the coordinates of point C are (0, a), while the coordinates of point B

are (0, -a).
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It is known that the line joining a vertex of an equilateral triangle with the mid-point of
its opposite side is perpendicular.

Hence, vertex A lies on the y-axis.

A
:ﬁ‘
L B 6l N X
< 7 r
L & i
Ta
1F,r_.
On applying Pythagoras theorem to AAOC, we obtain
(AC)? = (OA)? + (0C)?
= (2a)? = (OA)? + a2
> 4a° - a* = (OA)?
= (OA)? = 332
- 0A = V3a
(:v@mﬂ)
~Coordinates of point A =
(\Ea, CI')
Thus, the vertices of the given equilateral triangle are (0, a), (0, —a), and or

(.

(0, a), (0, -a), and :

Find the distance between P(x. 1) and Q(x,, *l'lf)when: (i) PQ is parallel to the y-axis,
(ii) PQ is parallel to the x-axis.

Answer

The given points are P{'T" M } and Q(x;, J":)_

(i) When PQ is parallel to the y-axis, x; = x».
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In this case, distance between P and Q - \[{I" —5) 42 -n)
|| 2
( )

=4l —»

Y= ¥ |

(ii) When PQ is parallel to the x-axis, y; = y».

= \[{-‘f: =X }: +Hr-» ]

In this case, distance between P and Q B

N
= (% —x)

X, — X,

Find a point on the x-axis, which is equidistant from the points (7, 6) and (3, 4).
Answer

Let (a, 0) be the point on the x axis that is equidistant from the points (7, 6) and (3, 4).

Accordingly, J{?—r;): +(6-0) J{S—u]: +(4-0)

494 a® —14a+36 =9+ a* —6a+16

— o' —14a+85 =Ja" —6a+25
On squaring both sides, we obtain
a’-14a + 85 =a’-6a + 25

= -14a + 6a = 25 - 85

= -8a = -60

6l 15
== — =
] 2

15
59
Thus, the required point on the x-axis is 2 .

Find the slope of a line, which passes through the origin, and the mid-point of
the line segment joining the points P (0, -4) and B (8, 0).
Answer
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The coordinates of the mid-point of the line segment joining the points

(0+8 —4+0)

, (4, —2)
_ L2 2 ) :

P (0, -4) and B (8, 0) are

It is known that the slope (m) of a non-vertical line passing through the points (xi, y1)

v, =W

m===
X, —X

X F X
and (xy, y») is given by l
Therefore, the slope of the line passing through (0, 0) and (4, -2) is

2-0 -2 1

4-0 4 2.
1

Hence, the required slope of the lineis 2.

Without using the Pythagoras theorem, show that the points (4, 4), (3, 5) and (-1, -1)
are the vertices of a right angled triangle.

Answer

The vertices of the given triangle are A (4, 4), B (3, 5), and C (-1, -1).

It is known that the slope (m) of a non-vertical line passing through the points (x;, y1)

-113 -1II

m= JXy E X,
and (xz, y2) is given by X=X
54
~Slope of AB (m;) <-4
_~1=-5_-6 —E
Slope of BC (m,) C_1-3 -4 2
_av1 5
Slope of CA (m;) 4+1 3

It is observed that mims; = -1

This shows that line segments AB and CA are perpendicular to each other

i.e., the given triangle is right-angled at A (4, 4).

Thus, the points (4, 4), (3, 5), and (-1, —-1) are the vertices of a right-angled triangle.
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Find the slope of the line, which makes an angle of 30° with the positive direction of y-
axis measured anticlockwise.

Answer

If a line makes an angle of 30° with the positive direction of the y-axis measured
anticlockwise, then the angle made by the line with the positive direction of the x-axis

measured anticlockwise is 90° + 30° = 120°.
JIY

QOF 4+ 307

X ™

e

fine

¥y

—

Thus, the slope of the given line is tan 120° = tan (180° - 60°) = -tan 60° —v3

Find the value of x for which the points (x, -1), (2, 1) and (4, 5) are collinear.
Answer

If points A (x, -1), B (2, 1), and C (4, 5) are collinear, then

Slope of AB = Slope of BC

:}I—t_—l} 5

—1
2—-x 4-2
1+1 3

2 | =

2—x

2

]

=
2—x

= 2=4-2x

= 2x=2

= x=1

Thus, the required value of x is 1.
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Without using distance formula, show that points (-2, -1), (4, 0), (3, 3) and
(-3, 2) are vertices of a parallelogram.
Answer

Let points (-2, -1), (4, 0), (3, 3), and (-3, 2) be respectively denoted by A, B, C, and D.

(-3, 2) e

Af2-1) B (4, 0)

_0+1 1
Slope of AB 4+2 6

2-3  —1 1
Slopeof CD = —3—-3 —6 6
= Slope of AB = Slope of CD
= AB and CD are parallel to each other.
3—1.'}!:1: 3
Now, slope of BC = -4 -l
2+1 3
— 3

Slope of AD = —3+2 -1
= Slope of BC = Slope of AD

= BC and AD are parallel to each other.

w oo djayuaaummm//:dny

Therefore, both pairs of opposite sides of quadrilateral ABCD are parallel. Hence, ABCD is
a parallelogram.

Thus, points (-2, -1), (4, 0), (3, 3), and (-3, 2) are the vertices of a parallelogram.

Find the angle between the x-axis and the line joining the points (3, -1) and (4, -2).

Answer

“2-(-1) _

nm = =-24+1=-1
The slope of the line joining the points (3, -1) and (4, -2) is 4-3

Now, the inclination (6 ) of the Ii\r)\mirﬁiggrt?%gi)igtscgﬁ—1) and (4, - 2) is given by



tan 6= -1

= 0 = (90° + 45°) = 135°

Thus, the angle between the x-axis and the line joining the points (3, -1) and (4, -2) is
135°,

The slope of a line is double of the slope of another line. If tangent of the angle between
1

them is 3 , find the slopes of he lines.

Answer
. -7
Let and m be the slopes of the two given lines such that o= sm
We know that if Bisthe angle between the lines /; and /, with slopes m; and m,, then
M, — i,
tan & = |—=
I+ mm,
1
It is given that the tangent of the angle between the two lines is 3
1| m—2m
3 L+ (2m)-m
1 —m
= —= -
3 (1+2m
1 —m 1  —m ] i
— = S C'I'::—| - |= -
3 1+2m 3 W+ 2me 1+ 2m~
Case I
1 m
3 1+2m°

=14 2m° ==3m

=2m" +3m+1=0
=2m" +2m+m+1=0

= 2m(m+1)+1{m+1)=0
= (m+1)(2m+1)=0

1
:>m:—|0rm:—5
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If m = -1, then the slopes of the lines are -1 and -2.

1 1

Ifm= 2 , then the slopes of the lines are 2 and -1.
Case II

I m

3 1+2m’

= 2m" +1=3m

= 2m =3m+1=10
=2m =2m=-m+1=0
= 2mm=1)=1{m=1)=0
= (m-1)(2m-1)=0

1
=m=lorm=—
2
If m = 1, then the slopes of the lines are 1 and 2.
1 1
— — and 1
If m = 2, then the slopes of the lines are 2

1 1
o — and 1

Hence, the slopes of the lines are -1 and -2 or 2 and -1 or 1 and 2 or 2

A line passes through (xi:31) and (h.k)

k—y, =m(h-x)

. If slope of the line is m, show that

Answer
k=y
(x.y ) and (h.k) o h—x
It is given that the slope of the line is m.
Ck=y

The slope of the line passing through

S =m
h—x

= k—y, =m(h-x)

Hence, k—y =m(h-x)
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Question 13:

a. b
If three point (h, 0), (a, b) and (0, k) lie on a line, show that ok
Answer
If the points A (h, 0), B (a, b), and C (0, k) lie on a ling, then

Slope of AB = Slope of BC

h=0 k-b

a—-h 0O-ag
h k-b

:>—=
a—nh -

= —ab=(k-b)(a-h)

= —abh=ka-kh—-ab+bh

= ka+bh=kh

On dividing both sides by kh, we obtain
ka  bh _kh

kh kh kh

Question 14:
Consider the given population and year graph. Find the slope of the line AB and using it,

find what will be the population in the year 2010?

A

K

’-______.-'
B
7 T

145, &
-l
2y (1985, 92)

=
(BF]

opulation in Crores

‘\P
o| 3

1G85 1990 1995 2000 2005 2010
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Answer

Since line AB passes through points A (1985, 92) and B (1995, 97), its slope is
97 -92 3 01

19951985 10

)
Let y be the population in the year 2010. Then, according to the given graph, line AB

must pass through point C (2010, y).
~Slope of AB = Slope of BC

I y-97
R
2 2010-1995
| y-97
—
2 13
= 13 =yp=97
3 .
- y-97=75

= y=7.5+97=104.5

I

Thus, the slope of line AB is 2 , while in the year 2010, the population will be 104.5
crores.
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Exercise 10.2

Write the equations for the x and y-axes.

Answer

The y-coordinate of every point on the x-axis is 0.
Therefore, the equation of the x-axis is y = 0.
The x-coordinate of every point on the y-axis is 0.

Therefore, the equation of the y-axis is y = 0.

1
Find the equation of the line which passes through the point (-4, 3) with slope 2

=
o]
Answer =
(X5.0) é
We know that the equation of the line passing through point*"**-'"*, whose slope is m, =
i (y=y,)=m(x—x,) _ =
@
1 =
Thus, the equation of the line passing through point (-4, 3), whose slope is 2 , is %
1, '8
[,1'—3]=E[1+4} =
2(y=3)=x+4
2y—-6=x+4
e, x—2y+10=10

Find the equation of the line which passes though (0, 0) with slope m.

Answer

[ Ko Vo }

We know that the equation of the line passing through point

(y=y)=m(x—x))

is .

, whose slope is m,

Thus, the equation of the line passing through point (0, 0), whose slope is m,is
wWW. ncert hel p. con



(y-0)=m(x-0)

i.e., y = mx

Question 4:

Find the equation of the line which passes though (2’ 2 3) and is inclined with the x-
axis at an angle of 75°.

Answer

The slope of the line that inclines with the x-axis at an angle of 75° is

m = tan 75°

1+ I NERS | ~
= m = tan(45°+30°) = tand5°+tan30° 3 3 3+l
T s30T LT
NI A3

We know that the equation of the line passing through point {.r“,_vu_}, whose slope is m,
(yv=y,)=mlx—x)

is .

, 23)
Thus, if a line passes though ( and inclines with the x-axis at an angle of 75°,

then the equation of the line is given as

(y-2v3)= ﬁf : (x-2)

(v-23)(V3-1)=(V3+1)(x-2)
y(V3=1)-243 (3 -1)=x(V3+1)-2(V3+1)
(V3+1)x-(V3-1)y=2J3+2-6+23
(V3+1)x—(V3-1)y=4J3-4

ie. (V3+1)x—(V3-1)y=4(3-1)

wo9 dipyuaou mmm//:dny

Question 5:

Find the equation of the line which intersects the x-axis at a distance of 3 units to the

left of origin with slope -2.
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Answer

It is known that if a line with slope m makes x-intercept d, then the equation of the line
is given as

y = m(x - d)

For the line intersecting the x-axis at a distance of 3 units to the left of the origin, d = -
3.

The slope of the line is given as m = -2

Thus, the required equation of the given line is

y=-2[x-(-3)]

y=-2x-6

i,e.,2x+y+6=0

1

3
Here, c = 2 and m = tan 30° -,

>

—t

—

Find the equation of the line which intersects the y-axis at a distance of 2 units above E
the origin and makes an angle of 30° with the positive direction of the x-axis. 5
=

Answer E
It is known that if a line with slope m makes y-intercept ¢, then the equation of the line g
is given as ®
=

y=mx+c @
O

o

o

3

Thus, the required equation of the given line is

y=—7=x+2

- x+ 2\.@
' J3
ﬁ_r:x f 2\,5

e, x—3r+243=0

-

Find the equation of the line which passes through the points (-1, 1) and (2, -4).

Answer
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It is known that the equation of the line passing through points (x;, y1) and (x3, y») is

Y. =¥
y=y ==
X, — X,

(x-x)

Therefore, the equation of the line passing through the points (-1, 1) and
(2, -4)is

- —4 -1 .

r—1)= x+1

{-1'_”__?:'{"""]}
3y—1)==5(x+1)

IJy—3=-5x-5

e, Sx+3y+2=0

Find the equation of the line which is at a perpendicular distance of 5 units from the
origin and the angle made by the perpendicular with the positive x-axis is 30°

Answer

If p is the length of the normal from the origin to a line and w is the angle made by the
normal with the positive direction of the x-axis, then the equation of the line is given by
XCOS W + ¥ sin w = p.

Here, p = 5 units and w = 30°

w oo djayuaaummm//:dny

Thus, the required equation of the given line is
x cos 30° + ysin 30° =5

.1'\"3+1-‘-] =5
7 7

e, \,'E.‘L'-I- y=10

The vertices of APQR are P (2, 1), Q (-2, 3) and R (4, 5). Find equation of the median
through the vertex R.

Answer

It is given that the vertices of APQR are P (2, 1), Q (-2, 3), and R (4, 5).

Let RL be the median through ve\l;wv Rﬁcert hel p. corr



Accordingly, L is the mid-point of PQ.

P21}

Q R
(2:3) {4, 5)

It is known that the equation of the line passing through points (x;, y1) and (x,, y») is

v =20 (e
2T h .

Therefore, the equation of RL can be determined by substituting (x;, y1) = (4, 5) and
(X2/ yZ) = (01 2)
2-5
.-.ll 5 =
Hence, 0-4

(x—4)

-3
= y—-5=—"(x-4
) AR

= 4(y-5)=3(x-4)
= 4y-20=3x-12
= Jx—4y+8=0

Thus, the required equation of the median through vertex R is 3¥ ~4¥+8=0

Find the equation of the line passing through (-3, 5) and perpendicular to the line
through the points (2, 5) and (-3, 6).

Answer

H—5 1
m = = —
The slope of the line joining the points (2, 5) and (-3, 6) is -3-2 5
We know that two non-vertical lines are perpendicular to each other if and only if their

slopes are negative reciprocals of each other.
wWW. ncert hel p. con
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Therefore, slope of the line perpendicular to the line through the points (2, 5) and (-3,
1 1

— R —

i I’ -1 l
-]
6) Y, r
Now, the equation of the line passing through point (-3, 5), whose slope is 5, is
(y=5)=5(x+3)
y—=53=5x+I13
e, Sx—y+20=0

A line perpendicular to the line segment joining the points (1, 0) and (2, 3) divides it in

the ratio 1:n. Find the equation of the line.

Answer
According to the section formula, the coordinates of the point that divides the line
segment joining the points (1, 0) and (2, 3) in the ratio 1: n is given by
(n(1)+1(2) 2(0)+1(3)) [(n+2 3
L l+n Y l4n J_[n+l'41+l]
The slope of the line joining the points (1, 0) and (2, 3) is
= 3-0 _3
2-1

We know that two non-vertical lines are perpendicular to each other if and only if their

slopes are negative reciprocals of each other.

Therefore, slope of the line that is perpendicular to the line joining the points (1, 0) and
1

2, 3) om 3

fn+2 3

e | =

n+l n+l

Now, the equation of the line passing throughL ] and whose slope is

given by

wWW. ncert hel p. con
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4 3 “'| “1{ n+2)
= x
Von+l) 3 w+l)

= 3[{n+1)y-3]= (1) 2]

= 3[n+]}_1'—‘~'-‘=—[n+ I:Ix-l—n+2

= (l+n)x+3(1+n)y=n+1l

Find the equation of a line that cuts off equal intercepts on the coordinate axes and
passes through the point (2, 3).
Answer

The equation of a line in the intercept form is

X WV .

p i E: 1 e (1)

Here, a and b are the intercepts on x and y axes respectively.

It is given that the line cuts off equal intercepts on both the axes. This means thata = b
Accordingly, equation (i) reduces to

L

ol o

= x+y=a . (i)

Since the given line passes through point (2, 3), equation (ii) reduces to
2+3=a>a=5
On substituting the value of a in equation (ii), we obtain

x + y = 5, which is the required equation of the line

Find equation of the line passing through the point (2, 2) and cutting off intercepts on
the axes whose sum is 9.

Answer

The equation of a line in the intercept form is

Xy .

; i E: l e (1)

Here, a and b are the intercepts on x and y axes respectively.
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Itisgiventhata+ b=9=b =9 -a ... (ii)

From equations (i) and (ii), we obtain

X v
—+ =1 RN
a 9—a { }

It is given that the line passes through point (2, 2). Therefore, equation (iii) reduces to

2 2
—+ =1
[} l:.—l‘:f
:>2[l+ I ]:l
a Y—a
xg—ﬂ'+ﬂ'\|
=2 =1
a(9-a)
18
= — =]
Qg —a”

= 18=%—a’

=a —9a+18=10

=a —6a—3a+18=0
= a(a—6)-3(a—6)=0
= (a-6)(a=3)=0
=a=6o0ora=3

Ifa=6and b =9 -6 = 3, then the equation of the line is

L 1= x42y-6=0
6 3 '

wo9 dipyuaou mmm//:dny

Ifa=3and b =9 -3 = 6, then the equation of the line is

2iloi 2x+y-0=0
306

2_::[
Find equation of the line through the point (0, 2) making an angle 3 with the positive
x-axis. Also, find the equation of line parallel to it and crossing the y-axis at a distance of
2 units below the origin.

Answer
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o

o
2n = m.,[‘_
L3

The slope of the line making an angle 3 with the positive x-axis is

-3

A

Now, the equation of the line passing through point (0, 2) and having a slope —V3 is

(y=2)=—/3(x-0)
y=2= —3x

e, J3x4+y=2=10

The slope of line parallel to line V3x4+y=2=0 53

It is given that the line parallel to line V3X+y=2=0 105505 the y-axis 2 units below the

origin i.e., it passes through point (0, -2).

Hence, the equation of the line passing through point (0, -2) and having a slope —V3 is g
©
V= —2}:—'\46{_1'—{)} Q
- =
v 2= \"3.‘{' é
i 2
Vir+y+2=0 5
o
@
=
@
The perpendicular from the origin to a line meets it at the point (- 2, 9), find the O
o
equation of the line. o
3
Answer

9—0 9

m =———=——

The slope of the line joining the origin (0, 0) and point (-2, 9) is -2-0 2

Accordingly, the slope of the line perpendicular to the line joining the origin and point (-
2,9)is

1 1

m f ~ Q

L2

-\I=

|

iy

Now, the equation of the line passing through point (-2, 9) and having a slope m, is
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”
P=9)=—[x+2

(r-9)=2(x+2)

Oy—-8l=2x+4

e, 2x-9y+85=0

The length L (in centimetre) of a copper rod is a linear function of its Celsius
temperature C. In an experiment, if L = 124.942 when C = 20 and L = 125.134 when C
= 110, express L in terms of C.

Answer

It is given that when C = 20, the value of L is 124.942, whereas when C = 110, the
value of L is 125.134.

Accordingly, points (20, 124.942) and (110, 125.134) satisfy the linear relation between
L and C.

Now, assuming C along the x-axis and L along the y-axis, we have two points i.e., (20,
124.942) and (110, 125.134) in the XY plane.

Therefore, the linear relation between L and C is the equation of the line passing through

points (20, 124.942) and (110, 125.134).
125,134 -124.942

(L - 124.942) = 110-20

0.192

(C-20)

L-124942 = (C—20)

g7 _
ie. L= ﬂ"j';‘ (C—20)+124.942. which is the required linear relation

The owner of a milk store finds that, he can sell 980 litres of milk each week at Rs
14/litre and 1220 litres of milk each week at Rs 16/litre. Assuming a linear relationship
between selling price and demand, how many litres could he sell weekly at Rs 17/litre?
Answer

The relationship between selling price and demand is linear.

wWW. ncert hel p. con
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Assuming selling price per litre along the x-axis and demand along the y-axis, we have
two points i.e., (14, 980) and (16, 1220) in the XY plane that satisfy the linear
relationship between selling price and demand.
Therefore, the linear relationship between selling price per litre and demand is the
equation of the line passing through points (14, 980) and (16, 1220).

v-980 = 122080y

' 16-14 '

y-980 =22 (- 14)

y—980=120(x-14)
ie.,y=120(x—14)+980

When x = Rs 17/litre,

-y
1':I2D{]?—I4]+‘-JE{] =
L A p
= y=120=3+980=360+980=1340 §

Thus, the owner of the milk store could sell 1340 litres of milk weekly at Rs 17/litre. é
-
O
@
P (a, b) is the mid-point of a line segment between axes. Show that equation of the line =-
D
O
is @ b Q
Answer 3

Let AB be the line segment between the axes and let P (a, b) be its mid-point.

¥
'

A

Pia, &)

s

O B
Let the coordinates of A and B be (0, y) and (x, 0) respectively.
Since P (a, b) is the mid-point of AB,
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wx=2aand v=2b
Thus, the respective coordinates of A and B are (0, 2b) and (2a, 0).
The equation of the line passing through points (0, 2b) and (2a, 0) is

(v—26)= =2 ()

(EU—EI)
_’?J}
y—2b=——/x
' 2a { )
u(_1= —EE:}: —bx
av—2ab = —bx
Le., bx+ay=2ab
On dividing both sides by ab, we obtain
ab ab ab
—Z4don
a b
X

Thus,the equation of the lineis @ b

Question 19:

Point R (h, k) divides a line segment between the axes in the ratio 1:2. Find equation of
the line.

Answer

Let AB be the line segment between the axes such that point R (h, k) divides AB in the
ratio 1: 2.

wWW. ncert hel p. con
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Y-

(8]
Let the respective coordinates of A and B be (x, 0) and (0, y).

Since point R (h, k) divides AB in the ratio 1: 2, according to the section formula,

{h,k}:[lxﬂ+2xl-, lxy+2>c:DJ
1+2 1+2
= (h k}—[E l] =~
’ 373 =
5 I
—h=""andk=2 =
= .'L'=ﬂ and vy =3k é
2 -
&3
3h =
30 s
Therefore, the respective coordinates of A and B are * © and (0, 3k). %
( 3h ')
Now, the equation of line AB passing through points * = and 3
(0, 3k) is
30 3h
0-0-250(2)

2

Ek[ 3}:]
e I
' I 2

hy ==2kx +3hk
Le., 2kx+ hy =3hk

Thus,the required equation of the line is 2kx + hy = 3hk

Question 20:

By using the concept of equatior\,\%ﬁ Iliﬂ:eelp{chvg tBaEBW three points (3, 0),



(-2, -2) and (8, 2) are collinear.
Answer
In order to show that points (3, 0), (-2, —-2), and (8, 2) are collinear, it suffices to show
that the line passing through points (3, 0) and (-2, -2) also passes through point (8, 2).
The equation of the line passing through points (3, 0) and (-2, -2) is
(1-0)= oD (x-3)

(-2-3)

-7 )

p=—|x—3

_ _5{ )

Sv=2x-6

e, 2x—5r==6

It is observed thatat x =8 and y = 2,

LHS.=2x8-5x2=16-10 = 6 = R.H.S. =

Therefore, the line passing through points (3, 0) and (-2, -2) also passes through point E
~

(8, 2). Hence, points (3, 0), (-2, -2), and (8, 2) are collinear. é
2
-
O
@
5
@
©
)
o
3

wWW. ncert hel p. con



Exercise 10.3

Reduce the following equations into slope-intercept form and find their slopes and the y-
intercepts.

(Dx+7y=0(ii)6x+3y-5=0(ii)y=0

Answer

(i) The given equation is x + 7y = 0.

It can be written as

}'=—%x+ﬂ (1)

1
m=—— ande=10
This equation is of the form y = mx + ¢, where

Therefore, equation (1) is in the slope-intercept form, where the slope and the y-
1

intercept are 7 and 0 respectively.
(ii) The given equation is 6x + 3y - 5 = 0.

It can be written as

y= 1{—(5.‘r+ 5)
2

3
=2y
y=-2x+3 (

I
Ry

This equation is of the form y = mx+c¢, where m=-2 and ¢ =

lad | L

Therefore, equation (2) is in the slope-intercept form, where the slope and the y-
q

intercept are-2 and 3 respectively.
(iii) The given equation is y = 0.

It can be written as
wWW. ncert hel p. con
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y=0x+0..(3)
This equation is of the form y = mx + ¢, where m = 0 and c = 0.
Therefore, equation (3) is in the slope-intercept form, where the slope and the y-

intercept are 0 and O respectively.

Reduce the following equations into intercept form and find their intercepts on the axes.
(i3x+2y-12=0(ii)4x -3y =6 (iii) 3y + 2 =0.

Answer

(i) The given equation is 3x + 2y - 12 = 0.

It can be written as

3x+2y=12

x 2 _

— I
12 12

dny

. X V
e, —+=—=1 el 1
1e,4+6 (}

X ¥

=]

This equation is of the form ¢ b , wherea =4and b = 6.

SULI2U MMM/

Therefore, equation (1) is in the intercept form, where the intercepts on the x and y axes
are 4 and 6 respectively.

(ii) The given equation is 4x - 3y = 6.

woo'd]

It can be written as
dx 3y

RS Sy

5] i)
2x ¥

3 2

X V
i.e., ﬁ-"-—:] ...{2}
3 (—-2)
2 )

X v i 1
.

This equation is of the form # b , wherea = <and b = -2.
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Therefore, equation (2) is in the intercept form, where the intercepts on the x and y axes

3

are 2and -2 respectively.

(iii) The given equationis 3y + 2 = 0.
It can be written as

Iy=-2

X y

—+==]

This equation is of the form @ & , Wherea=0and b =

el | b2

Therefore, equation (3) is in the intercept form, where the intercept on the y-axis is

and it has no intercept on the x-axis.

Reduce the following equations into normal form. Find their perpendicular distances from

the origin and angle between perpendicular and the positive x-axis.

iy X—V3Y+B=00i0 o C g Gy x-y = 4

Answer

(i) The given equation is * —J3y+8= U'

It can be reduced as:

x—3y=-8

= —X + u'r.?},-' =8

\I{—lj: +(\'E)? =4 =2

On dividing both sides by -, we obtain

wWW. ncert hel p. con
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X '\-'E B
2 27 2
(1) (VB
L2
h = r
= xcos120°+ysin120° =4 (1)

Equation (1) is in the normal form.

On comparing equation (1) with the normal form of equation of line

X COsS w + y sin w = p, we obtain w = 120° and p = 4.

Thus, the perpendicular distance of the line from the origin is 4, while the angle between
the perpendicular and the positive x-axis is 120°.

(ii) The given equation isy - 2 = 0.

It can be reduced as 0.x + 1.y = 2

On dividing both sides by VO +17 =1 , we obtain 0.x + 1.y = 2

= x cos 90° + ysin90° =2 ... (1)

Equation (1) is in the normal form.

On comparing equation (1) with the normal form of equation of line

X COsS w + y sin w = p, we obtain w = 90° and p = 2.

Thus, the perpendicular distance of the line from the origin is 2, while the angle between
the perpendicular and the positive x-axis is 90°.

(iii) The given equationis x -y = 4.

w oo djayuaau mmm//:dny

Itcan bereducedas 1.x+ (-1)y =4

JIE (1) =42

On dividing both sides by , we obtain
1 1] 4
V2 - I\_ J2) g J2
— xcos| 2n-= |4 w-'sin|f2rr—nx|:3\5
. i h 4 A
— xcos315°+vsin315° =22

(1)
Equation (1) is in the normal form.

On comparing equation (1) with the normal form of equation of line

X Cos W + y sin w = p, we obtain w = 315° and p=2\|"§.
wWW. ncert hel p. con



Thus, the perpendicular distance of the line from the origin is 2\5 , while the angle

between the perpendicular and the positive x-axis is 315°.

Find the distance of the point (-1, 1) from the line 12(x + 6) = 5(y - 2).

Answer

The given equation of the line is 12(x + 6) = 5(y - 2).

= 12x + 72 =5y - 10

=212x -5y +82 =0 ..(1)

On comparing equation (1) with general equation of line Ax + By + C = 0, we obtain A =
12, B = -5, and C = 82.

It is known that the perpendicular distance (d) of a line Ax + By + C = 0 from a point

|Ax, + By, +C
d="—p=—
(x1, y1) is given by VA" +B
The given pointis (x3, y1) = (-1, 1).
Therefore, the distance of point (-1, 1) from the given line
12(-1)+(-5)(1)+82  |-12-5+82[ 63 . _
— units ? units 3 units = 3 units
v‘(]l} +(-5) 164 J

w oo djayuaaummm//:dny

X vy
—+==1
Find the points on the x-axis, whose distances from the line -~ 4 are 4 units.

Answer

The given equation of line is

X WV

—4—=1

3 4

or, 4x+3y—-12=0 (1)

On comparing equation (1) with general equation of line Ax + By + C = 0, we obtain A =
4,B=3,and C = -12.

Let (a, 0) be the point on the x-axis whose distance from the given line is 4 units.
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It is known that the perpendicular distance (d) of a line Ax + By + C = 0 from a point
= Ax + By, +C
a [z, p2

(x1, y1) is given by NAT+B
Therefore,
4 |4u--3t-:ﬂ—|2|

NERERE

[4a—12|
=4="

3

= |4a—-12|=20
= +(4a—12)=20
= (4a-12)=20 or —(4a-12)=20
= dg=20+12 0or da=-20+12
= ag=8or -2

Thus, the required points on the x-axis are (-2, 0) and (8, 0).

Find the distance between parallel lines

(i) 15x + 8y -34=0and 15x + 8y + 31 =0

i/ x+y)+p=0and/(x+y)-r=0

Answer

It is known that the distance (d) between parallel lines Ax + By + C; = 0 and Ax + By +
4 IC, -C,

C, = 0 is given by VA’ + B .

(i) The given parallel lines are 15x + 8y - 34 = 0 and 15x + 8y + 31 = 0.

Here, A =15, B =8, C; = -34, and C, = 31.

Therefore, the distance between the parallel lines is

C-C, —34-31 .
= units = units = - units

nr: I|' .1 .-\. | 5 3
VA B J15) +(8)

(ii) The given parallel linesare/(x +y) + p=0and/(x +y) -r=0.
Ix+ly+p=0and/ix+ly-r=0
Here, A=1,B=1,C; =p,and C, = -r.

wWW. ncert hel p. con
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Therefore, the distance between the parallel lines is

d = li;_:_j = ‘Jrfi: urits = |i:,;Tj| units = |fg| units = % prr units

Find equation of the line parallel to the line 3x - 4y + 2 = 0 and passing through the
point (-2, 3).
Answer

The equation of the given line is

Ix=4y+2=0
3x 2
ory=—+—
4
3 1
ory=—Xx+—
2 , which is of the formy = mx + ¢
3
. Slope of the given line 4
It is known that parallel lines have the same slope.
3
H=—
- Slope of the other line = 4
3
Now, the equation of the line that has a slope of 4 and passes through the point (-2, 3)
is
3
y=3)==ix=(=-2
(v=-3)=31x-(2)}
4y—-12=3x+6

e, 3x—4y+18=0

Find equation of the line perpendicular to the line x - 7y + 5 = 0 and having x intercept
3.
Answer

x=Ty+5=0

The given equation of line is .
wWWW. ncert hel p. con
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1 5
Or,p=—x+=
7 , which is of the formy = mx + ¢

~Slope of the given line 7

Il
|
-]

==

e S—

1
The slope of the line perpendicular to the line having a slope of Tis [?
The equation of the line with slope -7 and x-intercept 3 is given by
y=m(x-d)
>y=-7(x-3)
>y=-7x+21
=>7x+y=21

Find angles between the lines Vx+y=landx+3y=1

Answer

The given lines are 1-5-‘-""}":1 and .r+ﬁy =1

- | l
V=—yix+1 el | andy=—-—x+—1 w2

-

\IIE H'i_, ==

The slope of line (1) is == , while the slope of line (2) is

The acute angle i.e., 6 between the two lines is given by

wWW. ncert hel p. con
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tan m, — m,
I+ na,m,
1
—J3+ NG
tan & = 3 T
I+(—-ﬁ][—
B
-3+1
5 _7
tan@ = |3 | ===
141 ‘ 2%3
tan @ = ]
: -
3
7 =30° >
—
Thus, the angle between the given lines is either 30° or 180° - 30° = 150°. S
=
g
Question 10: 5
The line through the points (h, 3) and (4, 1) intersects the line 7x - 9y - 19 = 0. at right8
angle. Find the value of h. —
D
Answer T
The slope of the line passing through points (h, 3) and (4, 1) is 8
1-3 -2 3
ml o e——— T ——
4—h 4-h
7 19 7
J_:I:__'r__ m_l =

The slope of line 7x - 9y - 19 = 0 or 9 9 ° 9,

It is given that the two lines are perpendicular.
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Somyxm, = =1

-2 7
= x| —|=-1

d4-h 9

—14
s =

36-94

= 14=36-94
=0h=36-14

:>h=£
9

-1

22

Thus, the value of h is 9,

Question 11: =y
=t
Prove that the line through the point (x;, y1) and parallel to the line Ax + By + C = 0 is AD
=
(x-x1) +B(y - y1) = 0. =
Answer é
_ _C >
Ibz[—],f'l'[—] m:—i 8
The slope of line Ax + By + C = 0 or B B is B =
-
It is known that parallel lines have the same slope. D
©
A -

m=—— 8
- Slope of the other line = B =

A

m=——

The equation of the line passing through point (x;, 1) and having a slope B js

y—y =m(x-x)

(x—x,)

= | =

Voy=-

B(y-y)=-A(x-x)

Alx—x )+ H{J-'—y, )=0

Hence, the line through point (x;, y1) and parallel to line Ax + By + C=0is
A(Xx-x1) +B(y-y1)=0

Question 12:
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Two lines passing through the point (2, 3) intersects each other at an angle of 60°. If
slope of one line is 2, find equation of the other line.

Answer

It is given that the slope of the first line, m; = 2.

Let the slope of the other line be m,.

The angle between the two lines is 60°.

=,

S tan 60° =
I+ m,
2—-m
=3 = -
VB [+ 2m,
\
Y [ 2—m, J
I+ 2m,
( Z—m,]
_>-.,rr— or -
+2m, LHEm:_
:::--.E(I t2m,)=2-m, or \r"_[l F2m,)=—(2-m,)
=3+ Zﬁm: +m, =2 or e E\E.fn: —m, =—2
:‘=\E+[2\E+|]m::20r v@+(2»ﬁ—l)m::—2
2_\5 (¢+-u"_1}
= m, = or m, =—
(243 +1) (2v3-1)
2-43
Case I: n, =| —=—
" [zﬁn]

2-43)

23 +1
The equation of the line passing through point (2, 3) and having a slope of [ ] is

(3= 278 ()

'~}+I
{2ﬁ+]}y—3(2\."§+]):(3—\,@]1‘—2[2—\.@}
(V3-2)x+(2V3+1)y=-4+23+613+3
(V3-2)x+(2V3+1)y=-1+8/3

wWW. ncert hel p. con
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(V3-2)x+(23+1)y=-1483
In this case, the equation of the other line is .

(2+45)
(25

Casell: m, =

—(2+\5)
(251

The equation of the line passing through point (2, 3) and having a slope of

24 B3
I h) )

](‘f—f}
(243 -1)y-3(243-1)=—(2+43)x+2(2+3)

{"-u"'_—l) v+ "-'+n"'_) =4+23+6/3-3
[1‘+«., Jx+(2V3-1)y=1+83
243 )x+(23-1)y=1+83

In this case, the equation of the other line is[\ \E)x ( V3 )J l .

_ _ o (Ve2)x+(2 3+|) . NE)
Thus, the required equation of the other line is or
[2+£)x+(2£—1)y: 1+843
Question 13:
Find the equation of the right bisector of the line segment joining the points (3, 4) and
(-1, 2).
Answer

The right bisector of a line segment bisects the line segment at 90°.

The end-points of the line segment are given as A (3, 4) and B (-1, 2).

3.1 442)
=[_]|4+ |:|::|‘3}
r

Accordingly, mid-point of AB - 2 2
_2-4 2 1
Slope of AB —| 34 2

wWW. ncert hel p. con
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1 ]
~.Slope of the line perpendicular to AB = LE

The equation of the line passing through (1, 3) and having a slope of -2 is
(y-3)=-2(x-1)

y-3=-2x+2

2x+y=5

Thus, the required equation of the line is 2x + y = 5.

Find the coordinates of the foot of perpendicular from the point (-1, 3) to the line 3x -
4y - 16 = 0.

Answer

Let (a, b) be the coordinates of the foot of the perpendicular from the point (-1, 3) to
the line 3x -4y - 16 = 0.

)

= [ 1 o

(e &)
Jx-dy-lo=0

h=3

Slope of the line joining (-1, 3) and (a, b), m; a+l

: 3
y=—x-4,m,=—
Slope of the line 3x -4y - 16 = 0 or 4 4
Since these two lines are perpendicular, mim, = -1
(b=3Y (3
| - Jxl'—]:—l
La+l 4
3h-9
= =—
da+4
=3h-9=-4g-4
=da+3bh=35 : {]}

WW. ncert hel p. con
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Point (a, b) lies on line 3x — 4y = 16.
z3a-4b =16 .. (2)

On solving equations (1) and (2), we obtain

68
a= o8 and b= 4—9
5 25
[ 68 49]
Thus, the required coordinates of the foot of the perpendicular are * 25 25 .

The perpendicular from the origin to the line y = mx + ¢ meets it at the point

(-1, 2). Find the values of m and c.

1
=m=
5

Answer
>
The given equation of lineis y = mx + c. _g
It is given that the perpendicular from the origin meets the given line at (-1, 2). =
Therefore, the line joining the points (0, 0) and (-1, 2) is perpendicular to the given Iineé
2 =
== =232 5
~Slope of the line joining (0, 0) and (-1, 2) —1 8
The slope of the given line is m. %
Somx=2=-1 [']'hf two lines are perpendicular] %
o
o
3

Since point (-1, 2) lies on the given line, it satisfies the equation y = mx + c.

n2=m(-1)+c

| 5
=S e=24—==
2 2
1 5
— and =
Thus, the respective values of m and c are 2 2.
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If p and g are the lengths of perpendiculars from the origin to the lines x cos 68 - y sin 8

= k cos 26 and x sec 6+ y cosec 6 = k, respectively, prove that p? + 4g* = k?
Answer

The equations of given lines are

X cos 6 — ysin = kcos 26 ... (1)

x secH + y cosec 6=k ... (2)

The perpendicular distance (d) of a line Ax + By + C = 0 from a point (xy, y1) is given by

g |Ax, + By, +C
NA'+ B’
On comparing equation (1) to the general equation of linei.e., Ax + By + C = 0, we
obtain A = cosf, B = -sinf, and C = -k cos 26.
It is given that p is the length of the perpendicular from (0, 0) to line (1).
o _[A@+BO)+C| || |-kcos2d)
e J2+p  JL£1B Jeos?@+sin’ 6

On comparing equation (2) to the general equation of linei.e., Ax + By + C = 0, we

= |~k cos 26| (3)

obtain A = sech, B = cosech, and C = -k.

It is given that g is the length of the perpendicular from (0, 0) to line (2).
4(0)+B(0)+C C |~k
'r1 q = > ] = } al = = i ) ]
NAT+ B VA '+ B \fsec’ 6 +cosec’ 8

From (3) and (4), we have

(4)

wWW. ncert hel p. con
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P g ={—.{' cos 2t5\‘|]J +4( : mi :
\ Jsec' 1+ cosec™ ¢

4k

=k cos 20+ —— \_
(scc:' i+ cosec” H)

=k’ cos” 20+

(l.: 05" 45' sin” H]
Ak

sin® & +cos™ & |

sin:Hc(m:HJ

=k’ cos 20+

-

4k

p—
{.‘iiﬂl Heos” & J

= k" cos’ 260+ 4k sin® f cos” @

=k cos” 20+ k* (Zsin H cos r‘?}:

= k* cos” 260+ k” sin” 20

=k’ (ms: 26 +sin’ EE?]

= )°

Hence, we proved that p? + 4g° = k.

= k" cos’ 28+

Question 17:

In the triangle ABC with vertices A (2, 3), B (4, -1) and C (1, 2), find the equation and
length of altitude from the vertex A.

Answer

Let AD be the altitude of triangle ABC from vertex A.

Accordingly, ADL1BC
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A2 3

Bi4d, -1} D Cil,32)

The equation of the line passing through point (2, 3) and having a slope of 1 is
(y-3)=1x-2)

>x-y+1=0

>y-x=1

Therefore, equation of the altitude from vertex A =y - x = 1.

Length of AD = Length of the perpendicular from A (2, 3) to BC

The equation of BC is
2+1
+l)=——(x—-4
(v+1) =5 (r=4)

= (y+1)=—1(x-4)

= y+tl=—x+4

= x+y=-3=0 (1)

The perpendicular distance (d) of a line Ax + By + C = 0 from a point (xy, y1) is given by

4 \Ax, + By, +C
VA'+ B

woo dpyuaau mmm//:dny

On comparing equation (1) to the general equation of line Ax + By + C = 0, we obtain A
=1,B=1,and C = -3.

|] x24+1x3=-3 . 2| . 2 . .
= — units = \F umnits = ﬁ units = u"E units
~Length of AD NIT+ T < <

Thus, the equation and the length of the altitude from vertex A arey - x = 1 and “-'E
units respectively.
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If p is the length of perpendicular from the origin to the line whose intercepts on the

axes are a and b, then show that P

Answer

It is known that the equation of a line whose intercepts on the axes are a and b is

X Vv
a b

or bx +ay =ab

orbx+ay—ab=10

The perpendicular distance (d) of a line Ax + By + C = 0 from a point (xy, y1) is given by

4 \Ax, + By, +C
VA + B?

On comparing equation (1) to the general equation of line Ax + By + C = 0, we obtain A

=b, B =a,and C = -ab.

Therefore, if p is the length of the perpendicular from point (x3, y1) = (0, 0) to line (1),

we obtain

4(0)+ B(0)—abl
P

xl'llh: + i‘.!:
|—uh

2 .2
Vas + 5"

= p=

On squaring both sides, we obtain

4

2 {_”bJ

a +b*
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1 1 1

T T

Hence, we showed that ¥ @ b’

NCERT Miscellaneous Solutions

Question 1:

k=3)x—(4—k" )y +k*-Tk+6=0
Find the values of k for which the IinerL ]r ( }"i N is

(a) Parallel to the x-axis,

(b) Parallel to the y-axis,

(c) Passing through the origin.

Answer

The given equation of line is

(k-3)x-(4-K)y+k*-7k+6=0..(1)

(a) If the given line is parallel to the x-axis, then

Slope of the given line = Slope of the x-axis

The given line can be written as

(4-kK)y=(k-3)x+k’-7k+6=0

. ““3} x+ki—?kﬂfﬁ
{4_#} {4_# }I , which is of the form y = mx + c.

(k-3)

()

~Slope of the given line =

Slope of the x-axis = 0

C(k=3)
C(a-k7)
= k-3=0

= k=3

Thus, if the given line is parallel to the x-axis, then the value of k is 3.

(b) If the given line is parallel to the y-axis, it is vertical. Hence, its slope will be
undefined.

(k=3)

(4-#)

The slope of the given line is

wWW. ncert hel p. con
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(k-3)

Now, {4_#-} is undefined at k* = 4

K> =4

> k==%2

Thus, if the given line is parallel to the y-axis, then the value of k is £2.

(c) If the given line is passing through the origin, then point (0, 0) satisfies the
given equation of line.

(k=3)(0)—(4=k*)(0)+ 4" =Tk +6=0

4

k" =Tk+6=0
k*—6k—k+6=0
(k—6)(k-1)=0
k=1orb

Thus, if the given line is passing through the origin, then the value of k is either 1 or 6.

rcosf?+ ysind = p

Find the values of 8and p, if the equation is the normal form of the

line VIx+y+2=0 .

Answer

The equation of the given line is “-E-‘HJ"— 2=0
This equation can be reduced as

\"EI +y+2=10

=
= —y3x—-y=2

JB) =2

On dividing both sides by B , we obtain

Vi
2'l.

V=

[

1
2

(Lplpr

s LN e

rcosf?+ ysind = p

On comparing equation (1) to , we obtain
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R
-

3.
costd = - sinf =-

Land p =1

2 | —

Since the values of sin 8 and cos 8 are negative, 6 6
i

Thus, the respective values of 6and p are 6 and 1

Find the equations of the lines, which cut-off intercepts on the axes whose sum and
product are 1 and -6, respectively.

Answer

Let the intercepts cut by the given lines on the axes be a and b.

It is given that

a+b=1..(1)

ab =-6..(2)

On solving equations (1) and (2), we obtain

a=3andb=-2ora=-2and b =3

It is known that the equation of the line whose intercepts on the axes are a and b is
Tl or hx+av—ah=10

a b '

Casel:a=3and b = -2

In this case, the equation of the lineis -2x + 3y + 6 = 0, i.e., 2x - 3y = 6.
CaselIl:a=-2and b =3

In this case, the equation of the lineis 3x -2y + 6 =0, i.e., -3x + 2y = 6.
Thus, the required equation of the lines are 2x - 3y = 6 and -3x + 2y = 6.

J_ :I
4 is 4 units.

L.qu

What are the points on the y-axis whose distance from the line

Answer

J_zl
4 is 4 units.

L-:|.<

Let (0, b) be the point on the y-axis whose distance from line

wWW. ncert hel p. con
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The given line can be written as 4x + 3y - 12 =0 ... (1)
On comparing equation (1) to the general equation of line Ax + By + C = 0, we obtain A
=4,B=3,and C = -12.
It is known that the perpendicular distance (d) of a line Ax + By + C = 0 from a point
P |Ax, + By, +C

Y TS

(x1, y1) is given by VA" +B
X v

—+==1
Therefore, if (0, b) is the point on the y-axis whose distance from line 3 4 is 4

units, then:

4:|4{D}+3(b]_|2

V4 +3
36 -12]
=4="ti-
5
= 20=3b-12|

= 20=+(36-12)
= 20=(3b-12) or 20=—-(3h-12)
= 3b=20412 or 3h=-20+12

32 b

—h="—orbh=-—
3 3

wo9 dipyuaou mmm//:dny

32 i 8
LU’?J L SJ
Thus, the required points are and .

Find the perpendicular distance from the origin to the line joining the points
(cos@.sin@) and (cos,sing).
Answer

(cos@.sin@) and (cosg,sing)

The equation of the line joining the points is given by
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Sin g —sin &

y=sinf =
cosg—cosdd

(x—cosd)

v{cosg—cosd)—siné(cosg—cosd)= x(sing—sind)—cos#(sing —siné)

x(sind—sing )+ y(cos¢ —cosé |+ cosHsing —cosdsind —sind cos g+sinfcos =0
x(sin@-sing)+ y(cosg—cosd)+sin(g-E)=0

Ax+ By +C =0, where A = sinf/ —sin¢, B =cos¢—cost, and (' =sin (g &)

It is known that the perpendicular distance (d) of a line Ax + By + C = 0 from a point

g |Ax, + By, +C
(x1, y1) is given by Ny
Therefore, the perpendicular distance (d) of the given line from point (x;, y1) = (0, 0) is

(sind—sing)(0)+(cosg—cos@)(0)+sin(¢—6)

) J{Hil‘l 1 —sin .;-:'-l]J + (L‘{!Hl;ﬂ' —{J{IHH}J
B sin (¢ - 0)|
\j:-:inJ A+ sin’ gh=2sinfsing + cos” ¢+ cos” & —2cosgcosd
- sin(¢—0)|
\/(sinl # + cos’ H)+ [sin2 #+cos’ qﬂ] —2(sin@sing+cost cosg)
_ |sin(g-0)
J1+]—2{ms[¢5—ﬂ})
sin(g—0)
J2(1-cos(¢-0))
_ |sin(¢-9)
(-8
2| 25
()
- sin(¢—0)
Zsin['ﬁ;ﬂ]

Question 6:
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Find the equation of the line parallel to y-axis and drawn through the point of
intersection of the linesx -7y + 5=0and 3x + y = 0.

Answer

The equation of any line parallel to the y-axis is of the form

x=a..(1)

The two given lines are

x-7y+5=0..(2)

3x+y=0..(3)

5 1
x=—— ;md_v::
On solving equations (2) and (3), we obtain 22 i
(5 |5J
Therefore, * 22 22 is the point of intersection of lines (2) and (3).

5 |5] 5
g ==—

Since line x = a passes through point & 22 22/, 22

3

Thus, the required equation of the line is - 22

=1
through the point,

=

X

— 4
Find the equation of a line drawn perpendicular to the line 4
where it meets the y-axis.

Answer

X vy
—+==]

The equation of the given line is 4 6

This equation can also be written as 3x + 2y - 12 =0

-3

y=—x+6
, which is of the formy = mx + ¢
3
~.Slope of the given line 2
l 2

N
=]

~Slope of line perpendicular to trlﬁv\ﬂ/{'k"?fb@?? helkp.‘bjorr
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Let the given line intersect the y-axis at (0, y).

V :
—=l=y=6
On substituting x with 0 in the equation of the given line, we obtain 6
~The given line intersects the y-axis at (0, 6).

2

The equation of the line that has a slope of 3 and passes through point (0, 6) is
. 2
(¥—06) E[T —0)

Jy—-18=2x
2x-3v+18=0

Thus, the required equation of the line is 2% 3V +18=0

Find the area of the triangle formed by the linessy - x=0,x+ y =0and x - kK = 0.
Answer

The equations of the given lines are

y-x=0..(1)

x+y=0..(2)

x-k=0..(3)

The point of intersection of lines (1) and (2) is given by

x=0andy=0

The point of intersection of lines (2) and (3) is given by

x=kandy = -k

The point of intersection of lines (3) and (1) is given by

x=kandy =k

Thus, the vertices of the triangle formed by the three given lines are (0, 0), (k, -k), and
(k, k).

We know that the area of a triangle whose vertices are (xi, y1), (X2, v»), and (x3, y3) is

l’,'f|""'| (-"‘3 _.1':] + X, {.1'2 =V )X (J', mps }|

Therefore, area of the triangle formed by the three given lines
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:%|{J(—.~’r —k}+1’r{k —ﬂ]+k{l}+ k}| square units
= l|k1 + k:| square units

2
= %|2k1| square units

= k* square units

Find the value of p so that the threelines3x +y-2=0,px+2y-3=0and 2x -y -

3 = 0 may intersect at one point.

Answer

The equations of the given lines are
3x+y-2=0..(1)
px+2y-3=0..(2)

2x-y-3=0..(3)

On solving equations (1) and (3), we obtain
x=1landy=-1

Since these three lines may intersect at one point, the point of intersection of lines (1)
and (3) will also satisfy line (2).
p(1)+2(-1)-3=0

p-2-3=0

p=5

Thus, the required value of p is 5.

. . =X C,. V=M 4o, Ei.l'ld ‘=X C, are
If three lines whose equations are ) I > z 2 ) ’ 3

concurrent, then show that m (e =cs)+m (e —a)+ms(q—c)=0.

Answer

The equations of the given lines are
y=mx+c;..(1)

Yy =mx+ C ... (2)

y =msx +c; .. (3) WWW. ncert hel p. comr

w oo djayuaaummm//:dny



On subtracting equation (1) from (2), we obtain
0=(m,—m)x+(c,—c)
= (m, —m, }_r =, —¢

¢, — ¢
X = =
iy —m,

On substituting this value of x in (1), we obtain

c, -0
y=m|———=" |+¢
ny, — m,

m,c, —mc,
y=—"——+r¢,
m, — i,
M,y — e, + e — MG
Y=
my, —m,
1,0y — M0
y=—"—""
m, — n,

. [ € —6  mMC, — MG W
=y PP s the point of intersection of lines (1) and (2).
It is given that lines (1), (2), and (3) are concurrent. Hence, the point of intersection of
lines (1) and (2) will also satisfy equation (3).
ey — L0 oy —
—_— = Lo, | ——— |+,
m| _mz . ”Tl - -’?‘1‘1 ’

oy, — LG, M0y — L0+ O — o,

m, — m, my = iy

MC, = M,C, = MC, + NLC, — O "”| +eym, =10
m (e, =c, )+m, (c‘, ¢ )+m ¢, )=0
(¢

my(ey—e; )+ my(e,—¢ )+ my(e,—e,)=0

Hence,

Question 11:

Find the equation of the lines through the point (3, 2) which make an angle of 45° with
the line x -2y = 3.

Answer

Let the slope of the required line be m;.
wWWW. ncert hel p. con
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, which is of the formy = mx + ¢

~Slope of the given line = 2
It is given that the angle between the required line and line x - 2y = 3 is 45°.

We know that if Bisthe acute angle between lines /; and /, with slopes m; and m,

", —m
tan & = I—‘
. + 1, m,
respectively, then B
o |y m,
cotan gyt = ——
|+ e,
——m,
o I =
m
1+
2
[ I —2m, \'|
2 /
= 1= <
24+ m,
2
= 2m,
= 1=
24+ m,
4
1= 2im, )
= 1=+ 5 |
b -+'r”] ,‘I
; .
1 —2m, 1-2m, |
— 1= orl=-
24m, 2+m, |
h I
=24 my =1=2m or 24 m =-1+2m,
I
—my=——orm =3
-

3
CaseI: m; =3

The equation of the line passing through (3, 2) and having a slope of 3 is:
y-2=3(x-3)

y-2=3x-9

3x-y=7
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e | =

Case Il: m; =

| =

The equation of the line passing through (3, 2) and having a slope of is:

Thus, the equations of the linesare 3x -y = 7 and x + 3y = 9.

Find the equation of the line passing through the point of intersection of the lines 4x +

7y -3 =0and 2x - 3y + 1 = 0 that has equal intercepts on the axes.
Answer
Let the equation of the line having equal intercepts on the axes be

XY

[ il

Orx+y=a (1)

1 5
x=—andy=—
On solving equations 4x + 7y - 3 = 0 and 2x - 3y + 1 = 0, we obtain 13 13
(L i]
V13013 is the point of intersection of the two given lines.
1 5

Since equation (1) passes through point * 1313 ,

1 5

—+—=a

13 13

]
——a=—
13
b,
x4 _1':—}, Le, 13x+13v=6

.~ Equation (1) becomes
Thus, the required equation of the line is 13x+13y=6
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Question 13:

Show that the equation of the line passing through the origin and making an angle 6with

\ m=tanf
¥ = mx +C|si:

the line X Iimtanﬂ_

Answer

Let the equation of the line passing through the origin be y = mx.

If this line makes an angle of 6 with line y = mx + ¢, then angle 6 is given by

m, —m
cotanl = | ———
I+mm

y
—-m
= tan B = |-*

v
14+ =—m
X

y

—tanf = +| =X

Case I: X

y = 1m

tan 0 = -

}I’
I+ m
X

v
= tan B+ = mlanB:F—m

X !

= m+tanf = J".[I—rntanlEi}
X )

y m+tant

x l-mtan®
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=m
tan 0 = —| X :
1+}m|
Case II: oA
¥
=1m
tan 0 = —| &
y
1+ m
L X

y ¢
= tan+=—mtand :—l+ m
X X

:>£{] ; |11tunl:l]:m tan B
X
v

m—tant
p— =
¥ l+mtanf

y m*tant

X | Fmtan B

Therefore, the required line is given by

In what ratio, the line joining (-1, 1) and (5, 7) is divided by the line
X+y=4?

Answer

The equation of the line joining the points (-1, 1) and (5, 7) is given by

y=l=——(x+1)

S5+1

6
p—l=—(x+1
y-1=2(x+1)
x—y+2=0 (1)

The equation of the given line is

xX+y-4=0..(2)

The point of intersection of lines (1) and (2) is given by

x=1landy=3

Let point (1, 3) divide the line segment joining (-1, 1) and (5, 7) in the ratio 1:k.

Accordingly, by section formula,
wWW. ncert hel p. con
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Ch(=1)+1(5) k(1)+1(7) )

|.13 = 3
rl } |k 1+ k 1+ & )
[ —k+5 k+70
=(3)=( T
1+& 144
—k+5 k+7
= =1, =3
1+ 4 1+ k
.—k+5_]
o1tk
= —k+5=1+k
= 2k=4
= k=2

Thus, the line joining the points (-1, 1) and (5, 7) is divided by line

X + y =4 in the ratio 1:2.

Find the distance of the line 4x + 7y + 5 = 0 from the point (1, 2) along the line 2x - y

= 0.

Answer

The given lines are

2x -y =0..(1)
4+ 7y +5=0..(2)

A (1, 2) is a point on line (1).
Let B be the point of intersection of lines (1) and (2).

On solving equations (1) and (2), we obtain - I8

/

~Coordinates of point B are

(23
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By using distance formula, the distance between points A and B can be obtained as

_Ll_l - _'
AR = (I+iJ +[2+E] units
18 9
Jf’23]3 [23]3 ,
= =+ units
18 9
\/ 23 [23]’ .
= +| — units
29 9
23]3 IJ" [23]" _
— — +| — units
9 ) |2 9
33]3 | ] .
+1 | units
9 )4

23 \F .
= — _|— units

9 \4

3 45

23 45 ,
= —X—— units
9 2

s

[
-

units

Thus, the required distance is

Question 16:

Find the direction in which a straight line must be drawn through the point (-1, 2) so
that its point of intersection with the line x + y = 4 may be at a distance of 3 units from
this point.

Answer

Let y = mx + c be the line through point (-1, 2).

Accordingly, 2 =m (-1) + c.

>2=-m+¢cC

>c=m+ 2

sy=mx+m+2..(1)

The given line is

wWW. ncert hel p. con

wo9 dipyuaou mmm//:dny



X+y=4..(2)

On solving equations (1) and (2), we obtain

2-m Sm+2
x= and y =
m+1 m+1
. (E—m 5m+2]
m+1m+1 Jis the point of intersection of lines (1) and (2).

Since this point is at a distance of 3 units from point (- 1, 2), according to distance

formula,

IIr_,.:l_ 1-.': P ~ w 2
2—m Sm+2

+1] +| 2| =3
L+ S om+] J

(2—m+m+1
o (2o

Sm+2—lm—2\: |
J :3h

Thus, the slope of the required line must be zero i.e., the line must be parallel to the x-

| m+1 \ m+1 =

9 O’ S

7t > = =

(m+1) (m+1) é
L+ m’

 Lem 2

- >

[m+|} 0O

=1+m’ =m +14+2m g

>

= 2m=10 @

—m=10 =

)

o

3

axis.

Find the image of the point (3, 8) with respect to the line x + 3y = 7 assuming the line
to be a plane mirror.

Answer

The equation of the given line is

xX+3y=7..(1)

Let point B (a, b) be the image of point A (3, 8).

Accordingly, line (1) is the perpendicular bisector of AB.
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Aw (3, &)

F+dy="T

pe i k)

Slope of AB = h_s_ while the slope of line (1) = -%

a—23

Since line (1) is perpendicular to AB,

"(h—éik‘x["_l\]z_l
La—EJ . 3

h -8 1
3a-9
=h-8=3a-9
= 3a-b=1 -(2)
. 3 bh+8)
Mid-point of AB=[“+ j
272 )

The mid-point of line segment AB will also satisfy line (1).

Hence, from equation (1), we have

(u+31+3[b+81=?
2 2

&

= g+3+3h+24=14
= a+3bh=-13 .(3)

On solving equations (2) and (3), we obtaina = -1 and b = -4.

Thus, the image of the given point with respect to the given line is (-1, -4).

Question 19:

If the lines y = 3x + 1 and 2y = x + 3 are equally inclined to the line y = mx + 4, find
the value of m.

Answer

The equations of the given lines are

y=3x+1..(1) WWW. ncert hel p. conr
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2y = x + 3 ... (2)
y=mx+4 .. (3)
Slope of line (1), m; = 3
1
m, = —
Slope of line (2), 2
Slope of line (3), m3=m
It is given that lines (1) and (2) are equally inclined to line (3). This means that
the angle between lines (1) and (3) equals the angle between lines (2) and (3).

m, — i, | iy — i, |

1+ m:.u:r.~|

I
3
- m y)

14 mm,

=M

|+ 3m

|
1+ —m
2

3—m| _|[1-2m|
1+3m m+2|

I—m 1-2m
= =+

14 3m m+2

3—m 1-2m 3i—-m [I—Em]
= = —

= or =
1+3m m+?2 1+ 3mi o+ 2

3-m _1-2m

If

= . then
1+3m m+2

(3=m)(m+2)=(1-2m)(1+3m)

= —m +m+6=1+m—6m’

—= Sm’ +5=0
— (m: + l): 0
= m = +/—1. which is not real

Hence, this case is not posible.
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3=m 1=2m
If :—[ ] then
1+ 3m m+2

= (3=m)(m+2)==(1-2m)(1+3m)
:}—m:+m+6:—(1+m—6mj)
= Tm -2m-7=0

2+.[4-4(7)(-7)

= m=
2(7)
242149
—METT

1+52

Thus, the required value of m is 7

Question 20:

If sum of the perpendicular distances of a variable point P (x, y) from the linesx + y - 5
=0and 3x - 2y + 7 = 0 is always 10. Show that P must move on a line.

Answer

The equations of the given lines are

x+y-5=0..(1)

3x-2y+7=0..(2)

The perpendicular distances of P (x, y) from lines (1) and (2) are respectively given by

J x+y-3| 1 Bx—2y+7

1= ; > ad g, = ; ;

J{]}' +(1) JB3) +(-2)

X4+ =5 3x=2y+7

Le, d, = ji|ann’—| \."|i’4 |
d +d, =10

It is given that
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_ |x+)-—5| 3x—2y +’?|

2 Ji3

= VI3|x+ y 5| +23x -2y +7|-10426 =0

= I3 (x4 y-5)+V2(3x -2y +7)- 10426 =0

[ Assuming (x+y—5) and (3x-2y+7)are positive |

= VB #1313 -5J13 + 3425 - 2423+ T2 - 10426 =0

= x(VI3 4392 )+ p(V13 - 242 ) +( 72 - 5413 - 10426 ) =0

line.

, which is the equation of a

. P — Ix-2y
Similarly, we can obtain the equation of line for any signs of{r-l_} 5) and { X=2) +ﬂ .

Thus, point P must move on a line.

Question 21:
Find equation of the line which is equidistant from parallel lines 9x + 6y — 7 = 0 and 3x
+ 2y + 6 =0.
Answer
The equations of the given lines are
IxX+6y-7=0..(1)
3x+2y+6=0..(2)
Let P (h, k) be the arbitrary point that is equidistant from lines (1) and (2). The
perpendicular distance of P (h, k) from line (1) is given by
|nm+f.k ?| Oh+6k—-7| |9h+6k—17|

(oY +(6y V117 313
The perpendicular distance of P (h, k) from line (2) is given by
 |Bh+2k+6|  [3h+2k+6)

\/7 Ji3
d,

Since P (h, k) is equidistant from lines (1) and (2), d, = d,
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C9h+6k-=T  3h+2k+6

W13 J13

= 9h+6k=T7=33h+2k+06
= 9h+6k—-T7 =+£3(3h+ 2k +6)
= 9h+6k =7 =3(3h+2k+6) or Yh+6k—T=~3(3h+2k+6)

The case 9h+ 6k - 7=3(3h+ 2k + ﬁ} is not possible as
Oh+06k—7=3(3h+2k+6)= -7 =18 (which is absurd)
9h+6k-T7=-3(3h+2k+6)

9h + 6k -7 =-9h - 6k - 18

= 18h + 12k+ 11 =0
Thus, the required equation of the line is 18x + 12y + 11 = 0.

A ray of light passing through the point (1, 2) reflects on the x-axis at point A and the
reflected ray passes through the point (5, 3). Find the coordinates of A.

Answer

>

oy

(8]

Let the coordinates of point A be (a, 0).

Draw a line (AL) perpendicular to the x-axis.

We know that angle of incidence is equal to angle of reflection. Hence, let
¢BAL = «.CAL = @

Let z.CAX =6
wWW. ncert hel p. con
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~2OAB = 180° - (8 + 20) = 180° - [ + 2(90° - 6)]
= 180° - 6 - 180° + 26

=0

~2«BAX = 180° - 6

Now, slope of line AC = 3—-0
S—ua
:b-t:zmi'i':F'1 (1)
S—a
2=10
Slope of line AB =
l-a
. 2
= tan (180° @) =—
| —a
= —tanf =
l—a
= tanf = -(2)
a—1 :
From equations (1) and (2), we obtain
3 2

S5-a a-1
= Ja—3=10-2a
13

= a=—
5

13
(59
Thus, the coordinates of point A are 5 .

Question 23:
Prove that the product of the lengths of the perpendiculars drawn from the points
[w'a: —h*, l}) and (—w"cr: — b, I}) to the line ia::q;l.\'.q".1"+ %sin B=1ish".
; ]
Answer
The equation of the given line is

X Vo
—cosi+—siné =1
a h

Or, bxcos@+aysinf —ab =0 (1]
wWW. ncert hel p. con
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(ﬁa]—bz,ﬂ)

Length of the perpendicular from point to line (1) is
bcussﬂ(v{ﬂ)+asiﬂﬂ{ﬂ]—ab‘ ‘&cosﬁﬁﬂ—aﬂ
ne b cos® @+a’sin’ 0 =Jb:c05:£?+a: sin” ¢ 2
| I R I
Length of the perpendicular from point to line (2) is
|b LD&-&(—J&T)-F asin@(0)—ab bcosﬂﬂ+ab‘ .
Vb cos® @+a’sin* @ =v'{b: cos” @ +a’sin” @ -0)

On multiplying equations (2) and (3), we obtain

wWW. ncert hel p. con
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‘hcusﬁﬂ'uz —h* —ah (hmsb"u'.:f ~h° +.:th
(\fh: cos” & +a° sin’ 6’):

(hcusﬁﬁa: —h* —uh](ﬁ cosfa —h’ +uh]‘
[h: cos @ +a sin” (’5'}

PP, =

[h cosia’ —h° )h - {m’r]:

(h:’ cos” @+ a” sin’ r’:?}
|.n’]J cos” E-‘{u: —h:}—u"h:|

(b7 cos® @ +a’sin’ @)

|f.r3h: cos @—h'cos @ - ,:,3;,3|

h*cos’ @+a’sin” @

h¥la"cos  8—=hcos  B—a

b cos’ @+a’sin” @
b* |a® cos® 8—h"cos” @ —a’ sin® 8-a’ cos’ H| o .
= - = — [surf?ﬂ:m'e‘?:l}
h*cos @ +a sin” @
h* —(h:CGS:H+f-‘:Si[I:9J
b cos” @+a sin” @
h* [hz cos” @+ sin” H}

{h: cos® 8+ a” sin” 5‘]

-

Hence, proved.

Question 24:

A person standing at the junction (crossing) of two straight paths represented by the
equations 2x - 3y + 4 = 0 and 3x + 4y - 5 = 0 wants to reach the path whose equation
is 6x — 7y + 8 = 0 in the least time. Find equation of the path that he should follow.
Answer

The equations of the given lines are

2x -3y +4=0..(1)

3x +4y-5=0..(2) wWww. ncert hel p. comr
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6x -7y +8=0..(3)
The person is standing at the junction of the paths represented by lines (1) and (2).

1 22
x=——and y=—
On solving equations (1) and (2), we obtain 17 17 .

(1 EJ
Thus, the person is standing at pointL 1717

The person can reach path (3) in the least time if he walks along the perpendicular line

[_1 EJ
to (3) from pointL 1717

Slope of the line (3) = 2

__ 7
I’ﬁ“‘| 6
~Slope of the line perpendicular to line (3) \7,
(_1 E] 7
The equation of the line passing through L 17717 and having a slope of _E is given

by

22 7 ]
l y—— ———[H-—
?] i} IT"]

6(17y-22)=-7(17x+1)
102y —132=—119x~7
119x +102y =125

Hence, the path that the person should follow is 19x+102y = ]25.
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